# CAPE ELIZABETH SCHOOL DEPARTMENT EXTRA CURRICULAR POSITION

NOV 0 2 2010

DATE: /////0

TO: Cape Elizabeth School Board

FROM: Scott Labbe

**RE:** Recommendation for Extra Curricular Position(s)

	,	Coaching	# of		Total	Funding	New Position?	New hire? (N/Y)*	*If yes, provide a brief description of qualifications below or on a separate sheet.
Name	Activity	Level	Hours	Rate	Stipend	Booster, etc)	(N/Y)	(147.1)	separate sneet.
Julienne Kane	7th Girls Basketball	1	153.6	2150.40	2150,40		No	)es	
Sarah Sullivan	8th Girls Busketball		1	i	2150.40	School	No	Yes	
Alicia Cummings	Expansion Girls Baskelbull		120	1620	.94	School - CEMS Account	NO	Yes	
Trivola Casining									

- · Julienne is new to our program. She has coached many sports top different age levels. She will make an excellent addition to our program.
- · Sarah works at CEHS as a phys-ed teacher and coach. She is an excellent role model and will make a great addition to the program.
- e Alicia is a 1997 Gaduate of CEHS. She was a member of the basketball fragram. While attending CEHS. She will be an excellent addition to the basketball program.

# CAPE ELIZABETH SCHOOL DEPARTMENT

## **EXTRA CURRICULAR POSITION**

**DATE:** November 1, 2010

**TO:** Cape Elizabeth School Board

FROM: Jeff Thoreck

**RE:** Recommendation for Extra Curricular Position(s)-Winter 10-11

Name	Activity	Coaching Level	# of Hours	Rate	Total Stipend	Funding (ie, School/ Booster, etc)	New Position?	New hire? (N/Y)*	*If yes, provide a brief description of qualifications below or on a separate sheet.
	V. Boys'								
Jim Ray	Basketball	4	408	14	6,283.20	School	N	N	
	J.V. Boys'								
Aaron Spaulding	Basketball	3	336	14	4,704.00	School	N	N	
	Freshmen Boys'								
Mitch Ouellet	Basketball	3	196.8	14	2,500.00	Boosters	N	N	
	Varsity Indoor								
Doug Worthley	Track (G&B)	4	263.5	14	4,057.90	School	N	N	
	Asst. Indoor								
Sarah Ward	Track	3	156	14	2,184.00	School	N	N	
	Varsity Girls' &								
	Boys'								
	Swimming/Divin								
Ben Raymond	g	4	402.9	14	6,204.66	School	N	N	
	Asst. Girls' &								
	Boys'								
	Swimming/Divin								
David Croft	g	3	255.6	14	3,578.40	School	N	N	

### CAPE ELIZABETH SCHOOL DEPARTMENT

# **EXTRA CURRICULAR POSITION**

Name	Activity	Coaching Level	# of Hours	Rate	Total Stipend	Funding (ie, School/ Booster, etc)	New Position?	New hire? (N/Y)*	*If yes, provide a brief description of qualifications below or on a separate sheet.
_	Varsity Boys' Ice	_							Write up
Barrett Heisten	Hockey	3			1,000	Boosters	N	Υ	below
	Asst. Varsity/Vol.								Write up
Joe Hetrick	Boys' Ice Hockey	3			0	Volunteer	N	Υ	below
	Asst. VarsityBoys'								Write up
Steve Lawrence	Ice Hockey	3	280.8	14	3,931.20	School	N	Υ	below
	Varsity Girls' Ice								
John Boucher	Hockey	3	288	14	4,032.00	School	N	N	
	Varsity Nordic								
	Ski	3	232	14	3,584.00	School	N		
Deven Morrill	Asst. Nordic Ski	3	160	14	2,080.00	Boosters	N	N	
	Varsity Girls'								
Chris Roberts	Basketball	3	408	14	5,712.00	School	N	N	
	J.V. Girls'								Write up
Tom Robinson	Basketball	3	336	14	4,704.00	School	N	Y	below
Mike Bartley	Diving Coach	3	175.2	14	?	Boosters	N	N	
,						Boosters/			
Taylor McFarlane	Asst. Swim	3			?	Volunteer?	N	N	
Chris Cantara	Alpine Skiing	3	230.4	14	3,225.60	School	N	N	
	Asst. Girls'	_			,				Write up
Jay Casterella	Basketball	3			2,000	Boosters	N	Υ	below
•	Asst. Girls' Ice								Write up
Martha Salois	Hockey	3				Boosers	N	Υ	below
	Asst. Girls' Ice								Write up
Marissa Boucher	Hockey	3				Boosters	N	Υ	below

#### CAPE ELIZABETH SCHOOL DEPARTMENT

#### EXTRA CURRICULAR POSITION

Name	Activity	Coaching Level	# of Hours	Rate	Total Stipend	Funding (ie, School/ Booster, etc)	New Position?	New hire? (N/Y)*	*If yes, provide a brief description of qualifications below or on a separate sheet.
	Asst. Girls' Ice								Write up
Kaitlin Flaherty	Hockey	3				Boosters	N	Y	below
	First Team								Write up
Mary-Ellen Towne	Volleyball	3			1,000	Boosters	Υ	Υ	below
	Asst. Girls' Ice								Write up
Briana Gervais	Hockey	3				Boosters	N	Υ	below

#### Volleyball:

Mary-Ellen Towne started volunteering her time to help with the large group of girls that came out for volleyball. The boosters decided to pay her for her time because of her devotion to the team and sport.

#### Girls' Basketball:

Tom Robinson is a CEHS graduate and has years of experience as a player, coach and teacher. Tom has been teaching in the Cape Elizabeth school system since 1994. Tom has been the Freshmen and JV coach here at CEHS and the Boys' Varsity Coach at North Yarmouth Academy from 2002-06. We are thrilled to have Tom be a part of the coaching staff again.

Jay Casterella is a graduate of Deering HS and University of Southern Maine. He has been involved in basketball all his life, playing in high school and college as well as officiating. The Girls' Basketball program is eager for the knowledge and experience he will bring to the team.

#### Girls' Ice Hockey

Martha Salois is a graduate of Winthrop High School and Saint Michaels College. Martha has played Ice Hockey in college and has done volunteer coaching.

Marissa Boucher is a graduate of Cheverus HS and University of Maine at Farmington. Currently Marissa is an Ed Tech 3 at Westbrook Middle school. Marissa has played Ice Hockey in high school and has been a volunteer coach for both Cheverus Ice Hockey and Biddeford Softball.

Kaitlin Flaherty is a graduate of Gorham HS and attended both UMO and SMCC and is working on her degree. Kaitlin helped coach Gorham HS and CEHS as a volunteer.

# CAPE ELIZABETH SCHOOL DEPARTMENT **EXTRA CURRICULAR POSITION**

Briana Gervais is a graduate of Gorham HS, has attended both Plymouth State College and USM and is currently working towards her degree. She played hockey in high school and volunteered in the past for the Cape Elizabeth Girls' team.

#### **Boys' Ice Hockey:**

Steve Lawrence has years of Ice Hockey experience from both playing and coaching. He has been both an Assistant and JV Coach at NYA and Winsor School in Boston. Stephen will be a great asset to the Boys' Ice Hockey program.

Barrett Heisten has a lifelong history of playing Ice Hockey. He grew up in Alaska and graduated from AJ Dimond HS in Anchorage, Alaska, attended the University of Maine at Orono and played Ice Hockey there for a year, then went on to play with the NY Ranger Hockey Club and seven (7) years of pro hockey with the NHL/AHL/ECHC. Barrett will bring his years of experience and his knowledge to the CEHS Boys' Hockey program.